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tstart=D0Y227 12:14 +/- 7.8 [min.]
radial velocity= 39. +/- 1. [km/sec]
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SMM C/P 1984 DOY227 165 +/- @ degrees

height= h + velXtime + 1/2%accelXtime%*2 # data points = 4

Top of Wide Fuzzy Loop [Late in Event]

S=SMM  M=MK3 P=PMON
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tstart=D0OY227 8:12 from derivative=0
Event begins at 1.53 Solar Radii
radial acceleration= 0.0008 +/- @.0003 [km/sec*xx2]




SMM C/P 1984 DOY227 165 +/- @ degrees

height= h + velXtime + 1/2%accelXtime*%2 # data points = 4

50.

48.

46.

velocity (km/sec)

radial

34.

32.

30.
19.00 20:00 21:00 22:00 23:00 2:00 1:008

44 .

42.

40.

38.

36.

TTTTTT ll]lllllllll[llllIIlIl]IIlIIHll[llIHIIII[IIlllIHI|IlHIIHI|IIIIHIIIIIIIIIHIIIIIIIIIIII

ll||I|IIIII|Il|ll||l|||[ll|ll||ll|I..

Top of Wide Fuzzy Loop [Late in EVentE

s bt beversep oo e e b e oo b

I T T T T YO T T T T I T TN TG T AN N MO M A A R MY A Y

DoY227 poyazs

tstart=D0OY227 8:12 from derivative=0
Event begins at 1.53 Solar Radii
radial acceleration=0.802E-@3 km/secXx?
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This is a 1 order run
skoskoskokskoskosk skokok skokosk sk sk sk sk sk skok

skekokok koskok

INPUT:

skokskokkokk

error in error in
year doy time radii radius angle angle datatype
1984 227 19:34:11 2.50 +/-0.15 165.0 +/- 0.5 SMM
1984 227 21: 8:35 2.80 +/- 020 165.0 +/- 0.5 SMM
1984 227 22:43:5 3.10 +/- 020 165.0 +/- 1.0 SMM
1984 228 0:23:11 3.50 +/- 025 165.0 +/- 1.0 SMM
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Structure being measured:

Top of Wide Fuzzy Loop [Late in Event]
seskskok sk sk skskok sk ok ok sk sk ok sk skok skok ok skokokok skesk sk sk sk ok

deskokskokokokk

OUTPUT:

skekekekokokok ok

START TIME:
Event began at t = 0 + -0.408E+03 +/- 0.781E+01 [minutes]
In more convenient units:
Event began at DOY 227 12:14 +/- 0.781E+01 [minutes]
Origin defined at DOY227 19: 0
RADIAL INFORMATION:
RADIAL VELOCITY = 39. +/- 1. km/sec
The computed RADIAL coefficients and errors FROM NLLST2 are:
c(l)= 0238E+01 +/- 0.193E-01 [solar radii]
c¢(2)= 0337E-02 +/- 0.111E-03 [radii/min]
c(2) = 0.391E+02 +/- 0.128E+01 [km/sec]
c(3)= 0.000E+00 +/- 0.000E+00 [radii/min**2]
c(3) = 0.000E+00 +/- 0.000E+00 [km/sec**2]
The computed ERRORS in coefficients [BEVINGTON] are:
error in c(1)= 0.31398E-01 [radii] see Bevington pg. 114
error in c(2)= 0.15145E-03 [radii/min] see Bevington pg. 114
ANGULAR INFORMATION:
ANGULAR VELOCITY = 0.0000E+00 +/- 0.0000E+00[radians/sec]

The computed ANGULAR coefficients and errors FROM NLLST2 are:




a(1) = 165. +/- 0. [degrees]

a(2) = 0.000E+00 +/- 0.000E+00 [degrees/min]
a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]

THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 19:34 = 0.000E+00 km/sec
The TOTAL velocity at 19:34 = 39, km/sec

The TANGENTIAL velocity at 21: 8 = 0.000E+00 km/sec
The TOTAL velocity at 21: 8 = 39. km/sec

The TANGENTIAL velocity at 22:43 = 0.000E+00 km/sec
The TOTAL velocity at 22:43 = 39, km/sec

The TANGENTIAL velocity at 0:23 = 0.000E+00 km/sec
The TOTAL velocity at 0:23 = 39. km/sec

sokosketesk ok sk ke stk o sk sl sk ket sk sk ke st sk st sk okok sk ok sk sk sk skl sk ok ok sk skl sk skok sk stk etk sk ok sk sk sk sk skek

The following info is for estimating goodness of the fit
sheok skoke sk oo sk sk sk sk sk sk sk sk sk ok ok ok sk sk sk ok ok e sk sk sk sk skok sk sk sk sk sk sk sk sk sk skekokosk skosk skok

Fit is ok [ier=1]

Standard Deviation in the height = 0.43

Standard Deviation in start time measurement =  (0.108E+03
Error in time = 0.13647E+02 using best fit method

See Taylor Error Analysis [Univ of Colorado] pg.78

Value of reduced Chi Squared returned from nllst2 = 0.535E-03
Reduced Chi Squared = 0.363E-02

Chi Squared = 0.725E-02

The probability for exceeding chi square = 0.999E+00

The correlation coefficient =  0.998E+00
The probability that no LINEAR correlation exists between the variables = 0.1784E-02
SEE BEVINGTON "Data Reduction and Error Analysis” [1969]
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This is a 2 order run
sk sk skok sk ok okokok sk skokeok sk ok skok

kkokokkekok

INPUT:

skekekokokokok

error in error in
year doy time radii radius angle angle datatype
1984 227 19:34:11 2.50 +/- 0.15 165.0 +/- 0.5 SMM
1984 227 21:. 8:35 2.80 +/- 020 165.0 +/- 0.5 SMM
1984 227 22:43:5 3.10+/-020 165.0 +/- 1.0 SMM
1984 228 0:23:11 3.50 +/- 025 165.0 +/- 1.0 SMM

sokoskok ok sk ok stk ok ok skok skek sk sk ok skokok skokok skokok sk ok sk sk skokokok sk skokok

Structure being measured:

Top of Wide Fuzzy Loop [Late in Event]
skeskeskekskosk ok skoskok sk sk sk ok skok sk sk skskokok sk sk sk sk okok skok sk stk sk ok sk sk ok ok

sdeskeskekeokkok sk

OUTPUT:

skokskekokkeskok

START TIME:

tstart=DOY227 8:12 from derivative = 0
Event begins at 1.53 Solar Radii
Origin defined at DOY227 19: 0

RADIAL INFORMATION:
RADIAL ACCELERATION = 0.802E-03 +/- 0.256E-03 km/sec**2
The computed RADIAL coefficients and errors FROM NLLST2 are:

c(l)= 0.241E+01 +/- 0.142E-01 [solar radii]
c(2)= 0269E-02 +/- 0.225E-03 [radii/min]
c2) = 0.312E+02 +/- 0.261E+01 [km/sec]
c(3)= 0.207E-05 +/- 0.662E-06 [radii/min*+*2]
c¢(3) = 0.802E-03 +/- 0.256E-03 [km/sec**2]

The computed ERRORS in coefficients [BEVINGTON] are:

Approximate error in c(1) = 0.25665E-01 [radii] Bevington pg 154 (8-30)
Exact error in c(1) = 0.58981E-02 [radii] Bevington pg 154 (8-28)
Approximate error in ¢(2) = 0.34696E-03 [radii/min] Bevington pg 154 (8-30)
Exact error in ¢(2) = 0.16403E-03 [radii/min] Bevington pg 154 (8-28)
Approximate error in ¢(3) = 0.94202E-06 [radii/min**] Bevington pg 154 (8-30)
Exact error in ¢(3) = 0.47025E-06 [radii/min**] Bevington pg 154 (8-28)

ANGULAR INFORMATION:




ANGULAR ACCELERATION= 0.0000E+00 +/- 0.0000E+00[radians/sec**2]
The computed ANGULAR coefficients and errors FROM NLLST? are:

a(1) = 165. +/- 0. [degrees]

a(2) = 0.000E+00 +/- 0.000E+00 [degrees/min]
a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]

THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 19:34 = 0.000E+00 km/sec
The TOTAL velocity at 19:34 = 33, km/sec

The TANGENTIAL velocity at 21: 8 = 0.000E+00 km/sec
The TOTAL velocity at 21: 8 = 37. km/sec

The TANGENTIAL velocity at 22:43 = 0.000E+00 km/sec
The TOTAL velocity at 22:43 = 42, km/sec

The TANGENTIAL velocity at 0:23 = 0.000E+00 km/sec
The TOTAL velocity at 0:23 = 47. km/sec
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The following info is for estimating goodness of the fit
deskostesk skokok ok sk sk koo ek e sk ok ok skeok sk ok sk sk kol sk sk skok sk ok ok ok skok sk sk sk ok ok sk sk ok stk skok sk ok ke

Fit is ok [ier=1]

Standard Deviation in the height = 0.43

Standard Deviation in start time measurement =  0.108E+03
Value of reduced Chi Squared returned from nllst2 = 0.136E-03
Reduced Chi Squared = 0.808E-03

Chi Squared = 0.808E-03

The probability for exceeding chi square = 0.991E+00

For a second order fit 3 correlation coefficients are given:
(Using equation of motion: r = a + bt + at**2)
The correlation between the data and the term linear in time = 0.1032E+01
The correlation between the data and the time**2 term = 0.9346E+00
The correlation between the data and the complete equation of motion = 0.9987E+00
SEE BEVINGTON "Data Reduction and Error Analysis" [1969]




